TABELA ILOSCI MASY (warstwa $cieralna)

Kilometr | Hektometr Szeroko$¢ | Srednia szeroko$é |Odlegto$é|Powierzchnial
m m mb m?2

41 375,00 6,2

6,20 25,00 155,00
41 400,00 6,2

6,20 25,00 155,00
41 425,00 6,2

6,20 25,00 155,00
41 450,00 6,2

6,20 25,00 155,00
41 475,00 6,2

6,20 25,00 155,00
41 500,00 6,2

6,20 25,00 155,00
41 525,00 6,2

6,20 25,00 155,00
41 550,00 6,2

6,20 25,00 155,00
41 575,00 6,2

6,20 25,00 155,00
41 600,00 6,2

6,20 25,00 155,00
41 625,00 6,2

6,20 25,00 155,00
41 650,00 6,2

6,20 25,00 155,00
41 675,00 6,2

6,20 25,00 155,00
41 700,00 6,2

6,20 5,00 31,00
41 705,00 6,2 suma: 330,00 2046,00




